
1

極限 lim
x#»

1
4

tan(πx)− 1

4x− 1
の値は キ である．

(19 立教大 理 1(5))

【答】
キ

π
2

【解答】
0
0
の不定形を解消するように，式を変形する．

t = x− 1
4
とおくと，x ##»

1
4
のとき t ##» 0 であるから

lim
x#»

1
4

tan(πx)− 1

4x− 1
= lim

t→0

tan
(
πt+ π

4

)
− 1

4
(
t+ 1

4

)
− 1

= lim
t→0

tanπt+ tan π
4

1− tanπt tan π
4

− 1

4t

= lim
t→0

tan(πt) + 1

1− tanπt
− 1

4t

= lim
t→0

2 tanπt
4t(1− tanπt)

= lim
t→0

sinπt
2t cosπt(1− tanπt)

= lim
t→0

{
sinπt
πt

· 1
cosπt

· π
2(1− tanπt)

}
= 1 · 1

1
· π
2(1− 0)

= π
2

……（答）

である．


